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Question 1: 22 boys are standing in front of Kunal in a queue. 12 boys are standing to the back of
Rohit in the same queue. If total number of boys is 30 then the number of boys standing in
between Kunal and Rohit is

a) 3
b) 4
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d) 5

Question 2: 32 boys are standing in front of X in a queue. Y is standing in the 19th position from
the back in the same queue.If total number of boys is 45 then the number of boys standing in
between X and Y is

a) 3
b) 5
c) 6
d) 4

Question 3: In a class of 72 children, children are seated in rows and columns in such a way that
the number of children in each row is 12.5% more than the number of children in each column.
How many children are there in each row ?

a9
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d) 12

Instructions: There are 15 students in a class who are equally distributed 5 benches forming a
rectangular array of students.

Boys and Girls sit in separate benches Shravya is seated in one corner of first bench Jayant is
diagonally opposite to her in the last bench.Aruna is in between Shravya and Kavya in one bench.
Kavya asked the girl immediately behind her Shilpa for a pencil and Shilpa borrowed a pencil from
the boy immediately behind her Anil, and gave it to Kavya Sunil is in between Anil and Jayant.
After some time Shilpa goes out and Shravya sits in place of her but as Geeta did not want to sit
beside Shravya Geeta swaps her place with Sweta.
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Question 4: How many girls are there in the Class after Shilpa left the Class ?

a) 8
b) 5
c) 6
d) 11

Question 5: Before Shilpa left the Class how was the seating placement for Jayant and Shilpa ?

a) Jayant was exactly behind Shilpa

b) Jayant and Shilpa were diagonally opposite

c) Two students were there between Jayant and Shilpa diagonally
d) Jayant is two students behind Shilpa.

Question 6: Immediately after Shilpa left the class who is in front of Sweta ?

peeela 100 Computer Awareness Tests For

b) Kavya

c) Aruna IBPS Clerk

d) Nobody

Question 7: Which one of the following places is vacant immediately after Shilpa left the Class ?
a) place in front of Geeta

b) place in front of Sweta

c) place in front of Anil

d) place in front of Shravya

Answers & Solutions:

1) Answer (B)

22 boys are standing in front of Kunal in a Queue 12 boys are standing to the back of Rohit
Total boys = 30.

So, rank of Kunal in the queue is 22+1 = 23

Rank of Rohit in the queue is 30 - 12 = 18

Hence, the number of boys between Rohit and Kunal in the queue is 23 -18-1=4

40 IBPS Clerk Prelims Mocks Rs.149

DOWNLOAD APP
FOR 100 FREE BANKING TESTS



https://cracku.in/ibps-clerk-previous-papers
https://play.google.com/store/apps/details?id=in.cracku.app&hl=en&utm_source=pdf&utm_campaign=bankingpdf
https://play.google.com/store/apps/details?id=in.cracku.app&hl=en&utm_source=pdf&utm_campaign=bankingpdf
https://itunes.apple.com/in/app/cracku-cat-banking-ssc/id1222556157?mt=8
https://cracku.in/pay/4rt6N
https://cracku.in/computer-awareness-tests

TAKE CRACKU'S FREE IBPS CLERK MOCK

2) Answer (B)

There are 32 boys ahead of X and 26 ahead of Y. Since Y is also ahead of X, there are 31 other
boys ahead of X. ie there are 5 boys between X and Y.

3) Answer (A) Daily Free IBPS Clerk Tests

let the number of children in each column be x.Thus, the number of children in each row is 1.125
given, total number of children=72=x(1.125x)

S X=8.

thus, number of children in a row=1.125x=9

4) Answer (B)

The rows are assigned as girls only and boys only. Since there were 2 full rows of girls before
Shilpa left, there are 5 girls remaining. Answers & Solutions:

5) Answer (D) 75 IBPS Clerk Mocks just Rs.199

Based on the information provided, Jayant is on the last bench - 2 places behind Shilpa.
6) Answer (C)

After Shilpa left, Geetha and Sweta swapped their places. So, Swetha was exactly behind Aruna
then.

7) Answer (C)

Shilpa is seated in front of Arun. So, the position in front of Arun became vacant when she left.
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